


S~ [ sodr| 4

~~—— [53dz | D

i

M

il

Il

L

06

cle

~—~—~—~ | s2d9] g

m

|

T

[T

§><>-Nm.czo'c<b

=
<

| sodz] @ |

Sod9| Y

<
<

100q Wby
‘l\\l\

Jooq Yo}

7

D
<

1-a-v

?
<

od-a-v

T4V

A=YV

NN NN~ N[~ | NN N Ol N

OIWOOIN |~ O/ N[~ —| NN N =] —] —










o

—~
_ W -

~ -~ _ 7

)

S2d¢

@

odi Zh9 $0d9
S0d8 @ $9dZ
01§ | Sodzie 89dz

$2d0Z

=) ®

| dojg

S0deZ




Step 3

: b @ q:b 10PCS .

Step 2




@ (wmm ®| cpcs

b @ ﬂ]-> 4PCS













$0de odl
F e e LI
A\ 3l a %
e 2diL $0d2
J 7
. [+] ° ° H o‘O’
== - w £
89dz $9d2
_& b S
—_— =N o X & R
v 2dl -5 K
S0dZ
. S
@.\. —— . -IV/V M B M W E IW
m 894z < = = odl
bY
D = I E— o
= ESES > B = W Lol 1
< (4 $2dz odl
= =y
= < & iy L= "
d C =
< < odi = / §9dz
[ m/u.“ . odl 7 S$odp




